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a

Sinie A
Sinie B
Sinie € -

Sinie A
Sinie B

NG

Hance 1 Lo mombreo do 0 & 20 \

11(12)13 —7#(8)9—2(3)4—17(18)19—15(16)17
1(2)3—13(14)15—18(19)20—12(13)14—10(11)12

16(17)18 —4(5)6—8(9)10— 3(4)5—6(7)8

;. 3<8<12<16<17

2<11<13<14<19

4597 /

-

Sinie A -
Sinie B -
Sinie € -

Sinie A -
Sinie B -

NG

uomee 1 Roo mombros de 0 & 20

14(12)13 —7(8)9—2(3)4—17(18)19—15(16)17
1(2)3—13(14)15—18(19)20—12(13)14—10(11)12

16(17)18 —4(5)6—8(9)10— 3(4)5—6(7)8

3<8<12<16<17
2<11<13<14<19

4<5<CALI<1 7

~

/




/ Hance 2 oo mombreo do 0 & 30 \

Sire A 20(21)22—13(14)15—16(17)18 —27#(28)29—2(3)4

Sinie B+ 7(8)9—10(41)12—20(21)22—29(30)31—5(6)7

Sinie € © 11(12)13—14(15)16—21(22)23—24(25)26 —4(5)6

Sinve A 0 3<14<17<24<28
Sinve B: 6<8<11<24<30

Sinde €. 5<42<15<22<25

\_ /
[ Beetheass

Sine Rt 20(21)22—13(14)15—16(17)18 —27#(28)29—2(3)4

Sine B 7(8)9—10(11)12—20(21)22—29(30)31—5(6)7

Sine € . 11(12)13 —14(15)16 —21(22)23 —24(25)26 — 4(5)6

Sinde A & 3<14<17<24<28
Sinie B: 6<8<11<24<30

Sinie € 5<12<15<22<25

\_ /




Huance 3 Loo kalloo d addikion

2+3= 5 5+7= 12
3+5= 8 L =
by6= 10 6+5= 11
2+9= M 2+8= 10
5+4= 9 7+8= 15
6+6= 12 bi8= 12

Huamce 3 Loo kallos d addikion

2+43= 5 5+7= 12
3+5= 8 hyF= 11
by6= 10 6+5= 11
2+9= 11 2+8= 10
S5+4= 9 7+8= 15

6+6= 12 bed3= 12




Hance & Lo mombroo do 0 & 50

Sire A 4A(42)43—37(38)39—28(29)30—40(41)42—21(22)23

Stz B 28(29)30—16(17)18 — 4 #(4:8)49 — 4 4(45)46—5(6)7

Sinie € ¢ 32(33)34—36(37)38—29(30)31—19(20)21—18(19)20

Sirve A 0 22<29<28<44<4 D
Sirve B 6<17<29<45<48

Sinie € . 19<20<30<33<37

uomee & foo mombros de 0 & 50

Sine A 0 41(42)43—37(38)39—28(29)30—40(41)42—21(22)23
Sinie B : 28(29)30—16(17)18 — 4 7(48)49— 4k 4(45)46—5(6)7

Sinie € - 32(33)34—36(37)38—29(30)31—19(20)24—18(19)20

Sinde A : 22<29<28<44<42
Sirnie B 6<47<29<45<48

Sinie € 1 19€20<30<33<37




/ Huance 5 Lo mombreo de 0 & 50 \

Sinie A - 42(4d2u) —38 (3d8u) —29(2d9u) —44(bdAu) —22

(2d.2u)

Sinie B 29(2d9u) —4#(1d 7)) —48(4d8u) — 45(kd5u) —6
(0d6u)

Sinie € - 33(3d3u) —37(3d7uw) —30(3d0u) —20(2d.00) —19
(1d.9u)

\_ /
[ Betheeass

Sine Rt b2(4d2u) —38 (3d8u) —29(2d9u) —4A(bd M) —22

(2d.2u)

Sinie B - 29(2d9u) —17(1d7u) —48(4d8u) — 45(4d5u) —6
(0d.6u)

Sinie € - 33(3d3u) —37(3d7u) —30(3d0w) —20(2d.0u) —19
(1d.9u)

\_ /




5-3=

6-4=

9-2=

5-4=

Hance 6 Loo kallos do aousknackion \

f-5= 2
9-5- 7
10-5= 5
g-5- 3
9-1= 8
-b= 4

3-2=

5-3=

6-4=

9-2=

5-4=

6-6=

F-5= 2
9-5= 7
10-5= 5
8-5= 3
9-1= 8
8-b= &




Huance 7 Loo doulles

Huamee 7 Loo doullos

2o doulle do 2 ¢ 4
2o doulle do 6 12
o doullle do 8 - 16
2o doullle do 3 : 6
2o doulle do 5 10
2o doulle do 9 ¢ 18
Lo doullle do 10 ¢ 20




Huonce 8 oo mombreo do 0 & 60

Sirie A ¢ 29(30)31—22(23)24—18(19)20—57(58)59— 43(44)45
Sirnia B 10(11)12—58(59)60—32(33)34—40(44)42—54(55)56

Sinie € © 16(17)18—1(2)3—59(60)61—11(12)13—49(50)51

Sirve A 0 19<23<30<44<58
Sinie B: 14<33<44<55<59

Sinie €. 2<12<17<50<60

uomce 8 Roo mombros de 0 & 60

Sine A 29(30)31—22(23)24—18(19)20—57(58)59— 4 3(k4)45
Sinie B : 10(11)12—58(59)60—32(33)34—40(44)42—54(55)56

Sine € . 16(17)18—1(2)3—59(60)61—11(12)13—49(50)51

Sinde A 19<23<30<44<58
Sinie B 11<33<44<55<59

Sinie € 2<12<17<50<60




Mfafwmwio

Lo mokis de & : 2
Lo moitkis de 12 : 6
Lo moikis de 16 : 8
Lo motkiz de 8 : 4
Lo moitkiz de 6 : 3
Lo motkis de 18 : 9
Lo moitkis de 20 : 10

M9fwm¢i@o

Lo motkis de 4 : 2
Lo mokiz de 12 : 6
Lo mokis de 16 : 8
Lo motkis de 8 : &
Lo motkis de 6 : 3

Lo moikis de 18 : 9

Wd&mwo




////"7 Hance 10 Loo kallos do aoustrackion *‘\\\\\

15-3= 12 17-5= 12
18-7= 11 19-5= 14
16-4= 12 20-5= 15
19-2= 17 18-5= 13
17-4= 13 19-1= 18
16-6= 13 18-4= 14

////"7 Huamee 10 Loo kallos do soustrackion *‘\\\\\

15-3= 12 17-5= 12
18-7= 11 19-5= 14
16-4 = 12 20-5= 15
19-2= 17 18-5= 13
17-4= 13 19-1= 18

16-6= 13 18-4b= Ak




Huance 11 Lo kallos d addikion

10+3= 13 20+7= 27
10+5= 15 30+7= 37
10+6= 16 LO+5= 45
10+9= 19 20+48= 28
10+4= 14 LO+8= 43
10+7= 17 50+8= 58

Huamee 11 Loo kallos d addikion

10+3= 13 20+7= 27
10+5= 15 30+7= 37
10+6= 16 4O0+5= 45
10+9= 19 20+8= 28
10+4= 14 40+8= 48

10+ 7= 17 50+8= 58
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Hance 13 oo mombroo de 0 & 79

Sirie A . 55(56)57—62(63)64—31(32)33—39(40)41— 73(74)75
Sinia B 70(741)72—68(69)70—22(23)24—32(34)32—54(52)53

Sirie . 38(39)40—11(12)13 —43(44 )45 —74(75)76—65(66)67

Sirve A 32<40<56<63<74
Sinde B 1 23<34<52<69<71

Sinde € . 12<39<44<66<75

uomce 13 foo mombros de 0 & 79

Sine A . 55(56)57—62(63)64—34(32)33—39(40)41—73(74)75
Sine B : 70(71)72—68(69)70—22(23)24—32(31)32—51(52)53

Sinie € - 38(39)40—14(412)13 —43(44)45—74(75)76—65(66)67

Sinde A © 32<40<56<63<74
Sinie B 1 23<341<52<69<71

Sinie € 1 12<39<44<66<75




Huance 14 Loo kallos daddikion

9+3= 12 9+1= 10
9+5= 14 9+2= 1
9+6= 15 9+5= 14
9+9= 18 9+8= 17
9+b= 13 9+6= 15
9+7/= 1k 9+3= 12

Huamee 14 Lo kallos d addikion

9+3= 12 9+1= 10
9+5= 14 9+2= 1M
9+6= 15 9+5= 14
9+9= 18 9+8= 17
I+bh= 13 9+6= 15

9+7= 14 9+3= 12




/ Huance 15 oo mombroo de 0 & 79 \

Sinie A : 56(5d6m) —63(6d3u) —32(3d2u) —40(4d5u) — 74

(7d 4

Sinie B - 74(7dAu) —69(6d9u) —23(2d3uw) — 34(3d4w) —52
(5d.2u)

Sinie € - 39(3d9u) —12(1d.20) —bb{bdbn) —75(7d50) —66
(6d.6u)

\_ /
[ meshemaen

Sinie A - 56(5d6m) —63(6d3u) —32(3d.2u) —40(4d5u) — 74

(7dda)

Sinie B 74(7d4u) —69(6d9u) —23(2d.3uw) — 34(3dAu) —52
(5d.2u)

Sinie € 39(3d9u) —12(1d2u) —bb{bdbiu) — 75(7d5u) —66
(6d.6.u)

\_ /




Huance 16 Loo kallos daddikion

10+30= 40 50+20= 70
40+30= 70 30+20= 50
10+60= 70 50+10= 60
10+20= 30 40+40= 30
30+30= 60 20+20= 40
20+40= 60 20+60= 80

Huamce 16 Loo kallos d addikion

10+30= 40 50+20= 70
40+30= 70 30+20= 50
10+60= 70 50+10= 60
10+20= 30 4O+40= 80
30+30= 60 20+20= 40

20+40= 60 20+60= 80




